AQA-style exam questions.
Answer the questions by typing your answers into the red boxes.

The Berlin Blockade,1948-49
1
Describe the Berlin Airlift of 26 June 1948 to 30 September 1949.
[4]

     
2

The self-blockade of the Western powers hit the West Berlin population with harshness.  The people were freezing and starving. In the Spring of 1949 the USA was forced to yield.  Their war-plans had come to nothing, because of the conduct of the USSR.
Soviet commentary on the Berlin crisis of 1948-49.  


This Soviet propaganda suggests that the Berlin Blockade was a Soviet success.  Do you agree with this interpretation?  

Explain your answer by referring to the purpose of the source, as well as using its content and your knowledge.
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3
Who was more to blame for the Berlin Blockade: 
a. The Soviet Union, 
b. The United States and Britain?

You must refer to both sides when explaining your answer.
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